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Problem 8

By the Chain Rule, we have
F'(z) =99(1 + 2 + 2*)”(1 + 22) = 99(1 + 22)(1 + = + 2*)%.

‘ Problem 10 !

We have, by the chain rule,

3cosxry/2 —sinx
5 .

g'(x) = 2(2 —sinz)?(=cosx) = —

‘ Problem 11 !

The outer function is f(f) = 4 and the inside function is g(f) = cost + tant. This implies
that

Using the Chain Rule, we have

Now, we have

Also, we have
g (t) = —sint + sec’t
and therefore
2
(cost+tant)?
sec’t — sint
(cost + tant)3

A(t) = — (—sint + sec?t)

| Problem 30|

We use the chaine rule and we get

ds/dt:1<1—|—sint>1/2d(1+sint>'
2\1+ cost dz \1+ cost



The derivative of (14 sint)/(1 4+ cost) is

cost(l+cost) — (1 +sint)(—sint) cost+cos’t+sint +sin*¢t  1+4sint + cost

(1 + cost)? B (1 + cost)? (1 +cost)?

Thus, the final answer looks like

1+sint + cost

2(1 + cost)3/2y/1 +sint

ds/dt =



